H d

OR20 ABR-shok RBIEELE (RCEOHER)

- @H21 H204E & - H2 1 4 E - H22 4E
EH22

17,000

15902 15,949 15,900

16,000

15,000

14,038
13,678 13,796

14,000 Fases

13,000

12,000

11,000

10,000

—defs1—



ABR-94 3k IZEIZEIEE AIER A L
H21EE : H22EE

2,000 it 6,013/M &

1,900

1,000 F

500

-500

—Jdbim2—



13,000

11,000

9,000

7,000

5,000

3,000

1,000

ARG IR BN AR

ERINED A B R

Bl

6,000

s RN IR BN AR

5,500 |

5,000 |

4,500 F

4,000

3,500

3,000

2,500

2,000 -

1,500 [

48 58 68 78 8H 9A
— - - H20

. 1,000

108 11 12H 1A 2R 3H 48
—a—H22

—Jtm3—

58 6B 7B 8B 98B 10H 11A 12R 1A 2R 3R
— -@ - H20 & --H21 —a—H22




ARl Fi7EkH

1200 FR2IEE 9268 — -6~ - HOFE
= / R 224E E & - - H21z§ '
| ; —a—H2EE
110.0 ) e -5
p 0\ . @
. / ' |
100.0 F = /
a2 4 7 g . LD A ’ .
90.0 m - . 0 sz e d w ‘/". "
o - e = L A
80.0 | ., =
'\ >
700 | :
FR20FE 91.2H
H600 155 Teg 178 T8 (98 [10R |11 |28 | 18 | 25 | 3B
— -@ - H204EEE | 816 | 824 | 943 | 885 [ 855 |88.0 | 873 |1140 | 759 |87.1 [103.2 |106.2
- @ --H214ERE 1133 | 884 | 839 [ 893 | 876 |1090 | 919 | 878 | 933 [80.7 | 978 | 879
—A—H224FFE (1024 | 998 | 96.1 |1105 | 949 |108.2 |106.9

— w4 —




1B &H=Y Y EMHER (H21.4~)

20,000
18,000
16,000
14,000
12,000
10,000

—o— AR
8,000 - —— 53

6,000 48 sA 68 78 sE 98 108 1A 128 18 28 3R 4B S5A 68 TH  8A 98  10A
|—— Ax 18, 588 17,628 18,212 18,578 ' 18,444 17,882 17,681 17,767 17,440 18,126 18,059 18,036 17,823 18,087 18,823 18,968 18,921 18,865 | 19,146
i—-'—-ﬂ.;}z 10,2 28 10,253 10, 025 9,973 10,170 10, 840 10,169 10,200 10,925 10,720 10,416 11, 349 10,557 10,572 ' 10,258 10,228 10,355 . 10, 442 10,420

—JLim5 —



£

28 FRARBEHRLR
E-H22EE

H20EEE -H214E

OH20
H21
H22

—J1tim6 —



B AMREEHIEE BIER A L
HO1EE . H2EE

20 .

&t 16N

15

10 |

~15 |

— w7 —



&AL
(H21.102 5t *t H22.10&51)

10,000.0 -
=gtk 9,58175 M
8,0000 B AR 11%1,60375 M
| &at 2,02275 1 & R
|
6,000.0 4,941.0
4,000.0 3
| 1,426.9
2,000.0 !;;5 s s en 5004 547 g 0.1
ol AP 00 00 oo 00 00 188 463 580 749 774 2062 g
' B IR 338 191 92 130 48 533 1099 29 207 1969 119 91.6
-2,000.0
E M W X % H O m O g 2 % M & ¥ OB W® T £
—-4.000.0 E‘% by ﬁﬂi B i B E OE O T = S - O B £ E o &t
B TR OF OB OB M & M B B OB M ok & OB OB OE R M Bl
FE ;B EFF & B & B 88 ok
—-6,000.0 ¢ - {f? iﬁ ?g -4 ¢ ﬁ ¢
I TR~ &
B ok 1E

-10,000.0

— w8 —

XIEEBICITEESISEZET



